Name: KEW = gMC‘&_O( & Class Period:
SPRING FINAL EXAM REVIEW

Bonding & Nomenclature (foldable):

1. Fill in the blanks
a. lonic bonding -

Occurs between a mi’,’r(h\ and a Y\,UHMCJFCLI
Electrons are_trounSfecre d
b. Covalent bonding — .
Occurs betweena 10N W\Urﬁ-\ anda_noninuwe fall oy IﬂfkiifObL'LC"\‘d
Electronsare_Sha.ced
2. Which type of compound uses prefixes in the name? lonic or@
3. Which type of compound uses the charges to write the formula®lonicor Covalent?
4. Define: !
a. Octet Rule— |n o chemical bond, atens will hove § vadence
tleckron( - except H o C)c’f'S 2.
b lon— an atont bhat hals a Charge beeaule M hes qaiied
by oSt gleckrong | : chT ()
c. Cation— pdong Hhak howe o peSitive (O (_»\o\fzj.e b/c i“\-«,e/aj lchuU&
loSt el ectrons | ‘
“d. Anion— |Ln$ ot have a n(,(jah ve {-) (,hou"?:je b/c ~H’\&J$ aw ¢
gauined ¢|eetrons .

5. List the charge of each element when it forms an ion

a. Oxygen -7 b. Nitrogen - 7% ¢ Barium 4+ 7L d. Chlorine — |
6. When naming compounds, what elements get Roman numerals next to them? tvonSiton Mmetalds
7. Name the following ionic compounds 8. Write the formula for these ionic compounds
a. BaF, boriwn Fluay id € a. magﬁasuum oxuzae mq 0
b. MnBr, mch\CjCLﬂ ¢seg 09) b d€ b. copper (1 SHiorde Cu ng
c. Mg(NOs), mcgn&g Wy Nitrae 5 berymum phos;?hate Bes (PO DY

[ = Name the following covalent compounds 10. Write the formula for these covalent compounds
/i S a. 1) jodine trifluande a. diarsenic pentoxide ks, 0Os

{,,i'.x 5 b. SisCl {’{’,}"(‘a\%l i Con Y\f\cﬂu ol }d = b. sulfur hexachloride S C/lgia
i Jé J (_/e: & d\Clh lorine_ 0CtoXi Ol ¢ c. diiodine heptanitride &
é i) 11. Name the following acids | 12. Write the formula for these acids
= il : - _
’.(_.\ g TT 2 ikn hudmmﬁtt AL a. nitrous acid H"N O’),
E% ‘5’ ;—i "> b, HS0; SLL furous CILC'.d \ b. nitric acid H ‘\! 03
3 2.3+ - |
Eﬂ—j {1 c. HsPO, P\%SP\%Q C acio c. hydrophosphoric acid H 2 %
:\J_hf/l?- Draw the Lewis Dot transfers for the following ionic compounds (Dets = Valence €lectoons )

a. aluminum chlorid % b. barium suiﬂde/}

T\ A AR
)
14. Draw the Lewis Dot structure for the following covalent compounds 5

a. Chy TU{‘CU vadénce € = Y+ 4H(1)= b. HBr 4otal valéence ¢ = t

g L oo Reant have
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Class Period:

15.
l‘{’u 'S
16.

Fe= 2 P= Y 2.3 0=4 x7 =% Total= |%
(3+2+8)
17. Calculate the % composition of each element in Ca3(PO,),
Co-=Y0.019 ¥ = 110.234 %, Ca.” ]M’—W %100 4 28.87, Ca|
P= %0974 *1= bl.948 Gl
0= 15.999 x &= 121.992 + z310.04 % P* guq‘f’;’mo 120,07 P|
18. Sketch the different molecular shapes l 2'} 9 3{ 100 —\ L—f i ?) 7&
a) Linear O—O—( oy e d) Trigonal Pyramldal %’9 "M =
b) Bent C)/C)})\O
o

c) Trigonal Planar

A

¢/

Tvpes of Reactions (foldable) & Balancing:

What do the subscripts in a chemical formula tell you?
of each Hype of atont or fon ore in the Compound
How many of each atom are in Fe;(P0,),? -

e} Tetrahedral

&

O
~ é,\)

19. In your own words, describe what happens in each of the 5 types of chemical reactions:

-a. Synthesis— 2 p¢ prvelé S STan (LS CEFWO\V\E ‘hc]f(jrhef ‘10 16’»«! 104

one p*(‘vde*

By De‘composmon -onie. ConwrpD *—ﬂ—"‘—({

SLPCL@LH, PIELES,
" Single Replacement — oL S\ ngj|
i o Conipot uuaﬂ

N Doub!eReplacement~ k9 (,um{b
(,(JLLJV\ U-H/LM .
‘e Combustion SLML{M\\/\& \o\k(“ﬂ%z g O ‘}D 'FEY’T\/\ C\a),

l*r‘\’L

Z e,le/mcnf svu.nLcM S

(\&LC{-LLFL{'\ brea S &Pc\_(“-}* H’\;h.

PPTAY: b sgu(‘m(xoﬂm3 sm# Jt’t/\\ Paﬁ“ﬁf\,{r‘i

T Mo

20. Determine whether the following equations are synthesis (S), decomposition (D), single

replacement (SR}, double replacement (DR), or combustion (C). Then balance them.

Type of Rxn

Chemical Equation

=

f S+ B ;> 8 50,

DR

_ZnS50,

+ _ LiCO3 > _ ZnCO; +

50,

ad¢
o s \;}q,i CLA,C. e,(,(

D

A HO> A H+__ 0

D

S Fe+__ S3> B Fes

,r‘——’_*\i' 2
(4 4

 GHg+ 5.0, > A€o, + 4 HO0

SR

A BN+ DF > 2 BF+

i NS

reoctione ( nmasSsS of

hat is the Law of Conservation of Mass?

/;WY’NM’T&’( Lot e creat=d oY d{ég‘}’ﬂbl ed

eocAorids nassS of

—

el e

YU ot ¢ henad Q:SL(

prodlucts 5
22. When 127 g of copper reacts with 32 g of oxygen gas to form copper (ll}, no copper or oxygen is left
over. How much copper (1) oxide is produced? 2Cu + O, - 2CuO

C

Pk &Cﬁ} wm Sw\.«/a;fhl ;/Lj



23. What are the 4 symbols used to identify physical states in a chemical equation? What do they

mean? ()= So(id (4)= ]:qtud ("fj) =gas (a9) = qquem«&
Solutfton
24, Llstthe seven diatomic elements. What does this mean? (You will need to memorize them) (A (5S ul\fed{i(‘i‘
Hy o Ny i Og -y By Hrpiie '] when Pey arre \9\. W @At

Hramselv es) (et in & ConaPound ),
Molar Conversions & Stoichiometry (fill-in notes & flow chart): M (j et o Subgert _‘2*’

25. Define a mole ,

the ST it Loy He antcunt of a SubStance
26. What is Avogadro’s number?

b.02 X 10> - e nwnnber of particles T | ol €
27. What are the 3 types of particles, and what substances do they represent?

Qrene & ERER Geie Porramlal wnit=
von\,\ e lecuwd € = Covai-ant COMOLLM jovu C (‘J\,Y\/\JP(AA,(LOi
AWV 28. How many atoms are in 1.25 moles Sulfur? : ._ _
o |25 bt s | GO EID T i hiets Lhpedeainttl L 0 3}
A\ ' B e e 2
) 29. How many moles of SO are in 2.4 x 10** molecu!es of sog
2.4 x|o¥ naslee-Stz el 503

— - 14.0 mel Sos |
(o.OL X [0 jpastee—503 WO b 2

30. The molar mass of an element is the mass of one Y\o\ & of the element.
31. Where do you find the molar mass of any element?
Periedic Table
32. Calculate the molar mass of Al,{SO,);
)ql"t.(.u C’[S{”LKZ_ '5% C:“::L\

Sz B2 0Lk x3 7 9o 198 1342 .15 a4/l
O Ie 00 x 122 191.98% + L-—w— 3 s

33. What is the mass of 5.4 moles of aluminum? ~___ Cyom P&mc(}\ ic Tado\&

5.4 naotT) 20982 g M7 jy5 =150 q Al |

| sacot A
34. How many moles are present in 87.2 grams of 50,?
0 Dl x =5 D0, C0. st SO :
- B2 450.| ) ol S0o 1126 w\‘soll

3

=16 994 « 2. = 2).99% + \
(4. o4 QL,_
Crom V.T -~ ©Y.0H /

35. What is STP an abbreviation for?
Stondacd Tenp erafuce and Pressure
36. At STP, what is the volume of 1 mole of any gas?
! sk = 285 Y L
37. How much space would 3.8 moles of CO, occupy at STP?

3.8 m\r-—\-@’;\zlwq beve Gibmmetos HTarc s
[ 1 ot ]%% C COL\

38. List the 3 conversion factors that use the mole. S>
| mel = koo x16%> pachcdes (dons naslecud €S, Fornda it

l v\ = arams From Peciodic Tu:)l;;
l sl =92 4 L of gas (@ STP)

39. How many atoms are in 2.5 grajms of sulfur?

2.5 48|\ aeekS \602x10™ abomS S | 1 410 atoms SJ
1%?,,(/&;@ & g\ \ st S

P
Fron PT. =%




48. Define the following terms 3
a) Limiting Reactant— X o ctount -H/KOU% W
PRt ok o bt nadl | A
b) ExcessReactant— ReocAoirt Haodt veaEyow will nNav< {-?.“f"*

o CH v of paet pine Limiting, ARt DA Ut
") Theoretical Yield— ine cunisuint Of predascr tiae (S posSible

L o ovnake (eal c.LL\cuiLvaok\ : \ N ‘
df ActualVield = Tig_ oupoint of preduet Hoat 1S W'(’L“j

mﬂs{.g He ounne Lt O‘F‘

nwiond ¢
49, Hre+ D0, > 2 reo0,
a) Identify the molar ratios from the equation above
Fe:0,= 43 Fe;05:0:= 2D FesFei0 Y22 o 250

b) If you have 24.16 mole; of oxygea, how man‘y:moles of iron do you need for a complete reaction?
21LE [ oA e (& = - ;
b pael65| el Bl — = [22.21 mel Fe
c) How many moles of Fe,0; can loe produced from 12.9 moles of iron?
e e = b S O- iy —
= \ F{”’ > = l 0.45 ol Fe, O
[0 et B o e

50. RAal+ Dags > bag + AL, oo T
; v
a) What mass of silver can be produced from 52.8 g Al? e
foon PT. ———h26.A8L 4P 2 wet-Al |1 nasl—hg '

b) How many atoms of aluminum are needed to produce 132.7 g Al,S;?

|= = | b s W R T
el LS oot g I 16 aboms B
51. Define: IS0 ey b Ste ) “H/\C*:{’ a e
a. Solution- U bure of 2 or AR (D.Wb‘ :Q?;uzB
evenly  conibivied  (hentog £ enUs s L e e

b. Solute — 'pa,(J‘— of Hae SoluuAion ot 1S bf’%*u}‘\ a _ |
s SIS o g I NN e € . ) i O{l gg C"\l V1 {A)
c. Solvent— Pt of Hre Solutton doiv Hhe s (LJ.WL'UUA
52. What is the difference between an unsaturated, saturated, and supersaturated solution?

_(Prefent n g Smedlbec QBT
- Solure IS disselvivg lnte (prezend, Jo s 1098
d. Solubility - Tyie  avis dnd of Solud< +ad IS posSible 4o
Sotcokeod — odreody has Hhe nainuunt acnsunt ot Selutt
unsadcroted — can SEIL diSselve here Solute (et fuld ‘j*‘*\

A -~ gt ved
il LA N N ¢
dissolve in o aivert Solvendt ad cectadn feniperastul s
Suptrsoturated -as ivare Solwte dlissolved 1 1+ Hrert windt Shwudal be

53. List 3 factors that cause a solid solute to dissolve faster. PvSS\ bl
nerease fomparadict (etdec)
Decrease poctidde S\ze

Proidrarion (Shrcing mm@;w;}

54. What'2 factors will keep a gas’dissolved in a liquid solution? (How would you keep your soda

from going flat? - )
&

Decrense Femperatuce (eolder —Kecp in vefrigecate
INreaSC pressuwit ((eep cop on vorte)



55. What does molarity measure? . ..
Tre Concentroahen of a Soluben
56. What is the molarity of a soiution that has 1.5 mol KOH in 3.2 L of solution? V) = ——-—A
= Cs \’\/Lu - il
M= W =10 11 o\
57. How many moles of KNO; are in 527’ 1o6f 0.84 M solutmn? oA =

L
0.84 = o—i_ﬁ v & 05 e

58. What volume ofO’?n4 M NH;C! solution would | need to make 1%,(’) ml of .426 M solutmn" MV, =MV,

0.94 % =0.9% (120 m\)  y {5 ol -
59. I,ist the properties of acids.

- pH < s Teact Wl metolds , i X
H,\SH, S0k (ke \enns)  Condunct electtical crorens: ROt
- . s S papex BED (electroly Wy +es) , aj/\dg\
06% Lls; Lt_?e propert:es of tﬁ’sm " p’éﬁ:\k'\“ﬂ " React W/ indicators WU&%

> Yoste wit=eC (\\ ¢~< Seap)

-t Kvas pape HLUE
61. What does pH measure?

How attdic oY basic 150 Solubilit){ Curve
G < blLt‘Vh\o o\ \‘ . : i : !
62. What range of pH values are acidic solutions? 140}
Basic solutions? YCIAS = O -7 130

Bages = 7114 120
63. What type of solution has an equal amount of 110

H'and OH ions? |tT=0OH HoW = Koo O
Ineuttol ] | L

64. What is an indicator? _ chuvu col Hiat

Choanges (_:u\u( o deil 1F Sonaethu 1S
Laes (Lolol o Jell ¥ 8o 2
65. What is the Arrhemus defmltlon of an acid and

base? [icid — PWGLU“C{'% HY in Selwd o,
Pose -produces O in Soludizn

66. What is the Bronsted — Lowry definition of an
acid and base? Aicid - donates HT in reackHens naya
PasSe - O\,(:C,apﬁ H* in vreactions |7

BD

700\,
A

80

50,4

40—t |

Grams of solute/100g H 20

30_;,,:-"*‘;

10

67. What is the pH of a solution that has a o ! Lo
hydrogen ion concentration of 2.5 x 10° M? Is 0 10 20 30 40 50 60 70 80 90 100
this an acid or a base? 'pH = =loat) 5 ¥ /O \) AR TR L)

[PH=5.61 |Acd| (pr<T)

68. Which compound is the most soluble at 30°C? Least soluble?

et = KT leost= S0
69. How many grams of KCl can dissolve in 100g of water at 90 °C? (o e UWFV’C)
5%
70. Identify the following solutions as unsaturated, saturated, or supersaturated.
a. 100 g NaNO; @ 30 °C b. 60g NH.Cl @ 80 °C c. 85gKNO; @50 °C
Above e uave below e vl on He urve

= Sw\’(fé cwmted = nsarurated & Saburndes J



